Kenetic energy isthe energy an object hasduetoits

Answer:

Movement

Explanation:

Kinetic energy is the type of energy that object obtains when being in motion. therefore Kinetic energy is the energy an object has due to it's movement!
Answer:

Motion, | believe.

Explanation:

Assume that afamily spends 35% of itsincome on housing, 20% on travel-related expenses, 10% on utilities, 25% on health care, and 5% on miscellaneous
items. Demand for which category will be most responsive to a change in price?

What is in extraneous solution to the equation b/b-7 - 2/b =7/ b-7 ?

What was the response among americans when the soviet union launched satellites into space in 19577

In 8.4 safisherman winds 2.9 m of fishing line onto areel whose radiusis 3.0 cm (assumed to be constant as an approximation). Thelineisbeing reeledin at a
constant speed. Determine the angular speed of theresd!.

Eight and 1/6 divided by 2 and 1/24

Why are invasive species dangerous to the environment?

Iridium -192 has a half life of 74 days after 148 days, how many milligrams of 900 mg sample will remain?

G Chairish-1s-The Word, Inc., manufactures top-end hardwood chairs that are sold through avariety of retail outlets. The most popular model sells (wholesale)
for $400 per chair and costs $300 to make. Past data show that average monthly demand is 1,000 chairs with a standard deviation of 200 chairs and that the
normal distribution is areasonable fit. CITW uses a 20 percent annual interest charge to estimate inventory carrying costs, so that the cost to carry one chair in
stock for 1 month is $300(0.20)/12 = $5. If all orders are backlogged and the cost of lost customer goodwill from carrying a single chair on backorder is $20,
what order-up-to (base stock) level should CITW use?

How isthe circulatory system similar to a road-and-highway system?

Which part of the government has the greatest authority in setting foreign policy?

Question 7 (1 point) Select the correct answer. Winston Churchill made the speech in the passage to the House of Commons (the elected wing of the British



parliament) shortly after he took office in 1940, during World War I1. What is the purpose of Churchill's speech? Blood, Toil, Tears, and Sweat by Winston
Churchill (excerpt) On Friday evening last | received His Majesty's commission to form a new Administration. It was the evident wish and will of Parliament
and the nation that this should be conceived on the broadest possible basis and that it should include all parties, both those who supported the late Government
and also the parties of the Opposition. | have completed the most important part of thistask. A War Cabinet has been formed of five Members, representing,
with the Liberal Opposition, the unity of the nation. The three party L eaders have agreed to serve, either in the War Cabinet or in high executive office. The
three Fighting Services have been filled. It was necessary that this should be done in one single day, on account of the extreme urgency and rigour of events. A
number of other key positions were filled yesterday, and | am submitting a further list to His Majesty tonight. | hope to complete the appointment of the
principal Ministers during tomorrow. The appointment of the other Ministers usually takes a little longer, but | trust that when Parliament meets again, this part
of my task will be completed and that the Administration will be completein all respects. . . . | considered it in the public interest to suggest that the House
should be summoned to meet today. . . . .. to form an Administration of this scale and complexity is a serious undertaking in itself, but it must be remembered
that we are in the preliminary stage of one of the greatest battlesin history, that we are in action at many pointsin Norway and in Holland, that we have to be
prepared in the Mediterranean, that the air battle is continuous and that many preparations have to be made here at home. In thiscrisis| hope | may be pardoned
if I do not address the House at any length today. | hope that any of my friends and colleagues, or former colleagues, who are affected by the political
reconstruction, will make all allowances for any lack of ceremony with which it has been necessary to act. | would say to the House, as | said to those who have
joined the government: "I have nothing to offer but blood, toil, tears and sweat." We have before us an ordeal of the most grievous kind.We have before us
many, many long months of struggle and of suffering. Y ou ask, what isour policy? | will say: It isto wage war, by sea, land, and air, with al our might and with
all the strength that God can give us; to wage war against a monstrous tyranny, never surpassed in the dark and lamentable catalogue of human crime. That is
our policy. You ask, what is our am? | can answer in one word: victory. Victory at all costs, victory in spite of al terror, victory, however long and hard the
road may be; for without victory, thereisno survival. Let that be realised; no survival for the British Empire, no survival for al that the British Empire has stood
for, no surviva for the urge and impulse of the ages, that mankind will move forward towardsits goal. But | take up my task with buoyancy and hope. | feel sure
that our cause will not be suffered to fail among men. At thistime | feel entitled to claim the aid of all, and | say, “Come then, let us go forward together with
our united strength.” ato threaten Britain's enemies in the war with dire consequences b to criticize the previous government for its anti-war stance c to express
Churchill's government's resolve to wage the war d to assure the British public that Britain would soon win the war

Names of cell organells?

Like an impaired driver, afatigued driver, will be unable to focus and will blank

Bronchoconstriction is treated by inhaled A. Histamine antagonists

B. Opiates

C. Pentobarbitals

D. Cholinergic antagonists

The act of collaborating to write and send the Declaration of Independence reflected the principle of

URGENT!! WILL GIVE BRAINLIEST *IFIT IS CORRECT* Which list below describes the next steps of evaporated water through the water cycle?

A) Condensation, precipitation, runoff, ocean storage
B) Transpiration, condensation, precipitation, ocean storage
C) Precipitation, condensation, runoff, groundwater



It most likely isB or Cidk tho

Lead nitrate can be decomposed by heating. what is the percent yield of the decomposition reaction if 9.9 g of pb(no3)2are heated to give 5.5 g of pbo?
2pb(no3)2( s) ? 2pbo( s) + 4no2( g) + 02( g)

Some individuals are unable to eat or drink dairy products containing lactose. What causes them to be unable to tolerate lactose in their diet? A) They are
alergic to proteins from cattle. B) They lack an enzyme that breaks down lactose. C) Thereis an abnormality in the lining of their small intestine. Eliminate D)

They are unable to absorb the products from the breakdown of lactose.

1. Home
2. More Solution
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